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Bl1. X7 bFla=(2,1,-2),b=(-1,1,-6) I LT, ATZRD K, (%2 )
(1) a+b (2) 2a-b (3) |b| (4) a-b (5) axb

M2 XoHBEAZRD K, (F2K)
(1) ay FHIND 2 5 (3,2), (—6,8) Zi# 5 EHAED T FER

(2) zyz ZEHEIND R (-1,3,-3) Z# D, (4,5,6) ZIERRT PV E 2 FHIO R

(3)  wyz ZEEIND M (—1,-2,-8) ZHH | (2,5,6) Z AT L& § HEMD R

(4) meﬁW®Eﬁomom%Lﬁ\2o®ﬁﬁx£5:y;1:223ax;4:y;2zzg3®
M &30 6 2\ D SRR
15 5 1 2 3 37
I:l./_‘I == = = — s \\ /dl
3. 1741 A < ) (125> C (10_4>,D i é WX LC, LN o174l
HEDEE 72 S XA TR o N 21752 K, HEAN 2 5132 0B 2B X, (%2 5)
(1) A+B (2) AB (3) AC (4) AD (5) CD
4. XOTHOEBZRD X, (%2 M)
31 -2 4 1 6 —2 -5 3 3 3 21
1 A= -6 0 5 -7 (2) B= 1 6 -1 -1 3 C=| -2 -3 -6 -19
33 -1 2 -2 -9 4 12 2 1 -2 9

5. RO 1RGN LT, (a) IERBEATHN (RRATH) 2K, (b) B2RD L, (51 4)

3r+y—22=4 z+6y—2z=-5 3+ 3y +32=21
(1) —6x + 5z = —7 (2) T+6y—z=-1 (3) —2x — 3y — 62 = —19
3x+3y—z2=2 —2z -9y +4z =12 2r4+y—22=9
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1. (%2 x5 = 10 )

(1) a+b=(1,2,-8) (2) 2a—b=(51,2) (3) |b|=+38

(4) a-b=11 (5) axb=(-4,14,3)

M2 (H2rx4=84)

2 N
(1) y:—gx—i—él Fld204+3y—12=07%¢&

(2) 4(x+1)+5(y—3)+6(z+3)=0 FlFdo+5y+62+7=07%&

T+l _y+2 _z+48

(3) 2 5 6 .

4) z—y—2=0F%F 120 +12y+122=0 & &

3. (F2rx5=10x)

20 9 123 45 9 10 11
(1) A+B:<12 4) (2) AB:<_12 _5> (3) AC:<_1 01
ADINE (=2) & 5 o7
(4) D DITE (= 3) B3 (5) CD = ( 5 1 )
5470 5 O CTHEAH]
B4, (%28 x3=06x)
(1) rankA =3 (2) rankB =3 (3) rank(C =2
Bl5 (HF1rXx2x3=06M)
31 -2 4
(1) (a) [Ab]=| -6 0 5|7 (b) AL
3 3 —-1] 2
1 6 —2| -5 rz=-1
2) (@) [Ap]=f 1 6 -1|-1 (b) ¢ y=3
-2 =9 41 12 z=4

3 3 3| 21 r=2+3t
3) (a) [Ab]=]| -2 -3 —6]-19 (b) y=>5—4t (t:fER)
2 1 -2 9
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f& 4.

1
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i 5.

(1) (a) (b)

(2)  (a) (b)

3)  (a) (b)




